YRR 31 FERRGRAER AIEHRR

“REFRRBREORIEREK (1 REMED A FHHE)

(BA{3L : ppm)

AR 2019 % 20204 & & fE
5E'IE 4 5 6 7 8 9 10 11 12 1 2 3 |[1EFfE{E| R FHiE
X5/ | 0001 | 0001 | 0001| 0001 0001| 0000( 0001| 0001| 0001| 0001| 0001| 0001 | 0007 | 0003
#ZNIF| 0005| 0006 | 0005| 0004 0004| 0005| 0004| 0004| 0003| 0003| 0003| 0.004| 0016 | 0010
BEEB | 0007 | 0007 | 0007 | 0006| 0006 0006| 0005| 0005| 0004 | 0004| 0004 0005| 0022| 0011
O/ | 0005| 0005| 0004 | 0003 0003| 0004| 0003| 0003 0002| 0002| 0002| 0003| 0017 | 0.009
{5ERE| 0004 | 0005| 0004 | 0003 | 0002| 0004| 0004 0004 0003| 0003| 0003| 0004| 0013 | 0008
ZHEF| 0006 | 0007 | 0006 0004 | 0005| 0005| 0004| 0004| 0003| 0003| 0003| 0004 | 0020 0011
GE) XHFRFZEAERETRT .
“BMLHiE (SO : FHIE)
(BREBRE)
Rl mla = 1BSRAMEA0.1ppm | B TI9BA0.04pom | g pyers B T 49{8%0.04ppm %  BBLEORMN
Amnmle o FTOEEBALBMME |BAARE B s BAI-Bh2ELLE S 1= &5 B R B
ZDEE TDEE EHRLE-CEDFE 0.04ppmZEHBAT-BH
%”2 =] =3 ppm =] % =] % ppm F:x, &O H
XLsR| 359 | 8728 | 0.001 0 0.0 0 0.0 0.002 O 0
BIE| 366 | 8750 | 0.004 0 0.0 0 0.0 0.008 @) 0
BEEF| 360 | 8632 | 0.005 0 0.0 0 0.0 0.010 O 0
BO/B| 366 | 8747 | 0.003 0 0.0 0 0.0 0.007 @) 0
BB/ | 361 | 8645 | 0.004 0 0.0 0 0.0 0.007 @) 0
ZHEBF| 366 | 8752 | 0.004 0 0.0 0 0.0 0.009 O 0

GE) XHXRFEAERETRY




—BMLER, “RMEERBEHEHRR (1 RFHREDH FEHE)

(B3 : ppm)
NG = 2019 % 2020 & B & &
gg 4 5 6 7 8 9 10 11 12 1 2 G GEHEE
X558 | NO | 0000 | 0000 | 0000 | 0000 | 0001 | 0.001 | 0000 | 0.001 | 0001 | 0.000 | 0000 | 0.000 | 0009 | 0.002
NO:| 0004 | 0004 | 0003 | 0003 | 0002 | 0003 | 0004 | 0.005 | 0.006 | 0.005 | 0.005 | 0.005 | 0.027 | 0012
)5 | NO | 0001 | 0001 | 0001 | 0001 | 0001 | 0001 | 0000 | 0000 | 0.000 | 0.000 | 0.000 | 0000 | 0.010 | 0.002
NO:| 0004 | 0004 | 0003 | 0003 | 0002 | 0003 | 0003 | 0.004 | 0.004 | 0.003 | 0004 | 0.004 | 0.024 | 0008
#MEB | NO | 0000 | 0000 | 0000 | 0000 | 0001 | 0000 | 0000 | 0.000 | 0.001 | 0.000 | 0.000 | 0.000 | 0.019 | 0.003
NO:| 0004 | 0004 | 0003 | 0003 | 0002 | 0003 | 0004 | 0.004 | 0.005 | 0.004 | 0.004 | 0.004 | 0.024 | 0010
OB | NO | 0001 | 0000 | 0000 | 0000 | 0001 | 0001 | 0001 | 0.001 | 0001 | 0.000 | 0.000 | 0.000 | 0017 | 0.003
NO:| 0003 | 0002 | 0001 | 0001 | 0001 | 0000 | 0000 | 0.001 | 0000 | 0.001 | 0002 | 0.003 | 0.013 | 0005
{525 | NO | 0000 | 0000 | 0000 | 0.000 | 0000 | 0000 | 0000 | 0000 | 0.001 | 0.001 | 0.001 | 0000 | 0.010 | 0.002
NO:| 0003 | 0003 | 0003 | 0003 | 0002 | 0003 | 0003 | 0.004 | 0.004 | 0.004 | 0.004 | 0.003 | 0.031 | 0008
Z S| NO | 0000 | 0000 | 0000 | 0.000 | 0000 | 0000 | 0000 | 0000 | 0.000 | 0000 | 0.000 | 0.000 | 0.012 | 0001
NO:| 0003 | 0003 | 0003 | 0003 | 0002 | 0002 | 0002 | 0.003 | 0.003 | 0.003 | 0003 | 0.002 | 0.030 | 0.008
GE) XHIFRFZEIERETT .




—RILER. “RICERKVCERRIY (FRIE)
(AVUERVBIEERL L)

- —E{EZE % (NO) ZE{EZEFR (NO2) ERERIEY(NO+NO2)
A | & |1 gal&Aa|&| & 1 1 B ;# [} g B ;E'F D) EHEE EERENERE = F
;M B s TR F ¥ w | % A T o
B | % B% E % B ;Z g 1 M o ; E fiBo 06| %A 5 ;ﬁ 1
:ﬁ“ E qz FEIEI ﬁE :ﬁu E :F Fﬁﬁ ;l% " ?ﬁ LEE\ & A ﬁ ﬁg 1Egppm :EII I:HE qz FEIE] ﬁE ﬁﬁ
:ﬁlj J ﬁﬁ 1)) J ﬁﬁ 03 & 0.1 0.04 & D i | # ﬁg 1))
B | 1 B ppm % | pgm £ x| ® P
- = A = A e 5 2 0 % O o B [z % B 5 = A
- = 98 | g & 020 = 0.06 o8 |5%| g 8 | o [vo+non
5| % B z# PR 2| 2 5 | ep#l | % |gm B | %
R | M| e || E & || E|E 8 T =& T | fE |mxl % | @@ @] E
P B |B%ME | ppm | pom | ppm| B | BERE | ppm | pom | B % |BEREI| % | B | % | B | % [ppm| B | B |ERE| pom | ppm | ppm | %

SCAELE R 359 | 8728 |0.000 (0.009 (0.001 | 359 |8728 [ 0.004 |0.027 | 0O 00 0 0.0 0 0.0 0 00 |0.009| 0 | 359 |8728 |0.005 [0.032 [0.009 | 905

#)IIE| 366 | 8700 |0.001 |0.010 [0.002 | 366 (8700 [0.004 |0.024| 0 0.0 0 0.0 0 0.0 0 0.0 (0.007| O 366 |8700 [0.004 (0.026 |0.008 | 85.7

P A | 360 | 8576 [0.000 |0.019 [0.001 | 360 [8576 |0.004 |0.024| 0 0.0 0 0.0 0 0.0 0 0.0 (0.007| O 360 |8576 [0.004 (0.032 |0.008 | 91.8

BrO /5| 333 | 8046 (0.001 [0.017 (0.001 | 333 (8046 | 0.001 |0.013| O 0.0 0 0.0 0 0.0 0 0.0 (0.004| O 333 (8046 |0.002 [0.017 [0.005 | 71.7

152 /| 366 |8690 |0.000 [0.010 [0.001 | 366 [8690 [0.003 [0.031| O 0.0 0 0.0 0 0.0 0 0.0 (0.007| O 366 (8690 |0.004 (0.031 [0.008 | 90.3

% HEE]| 362 |8612 |0.000 [0.012 [0.001 | 362 |8612 | 0.003 (0.030 | O 0.0 0 0.0 0 0.0 0 0.0 (0.006| O 362 8612 [0.003 (0.030 |0.006 | 95.7

GE) XHMXRFEAERETRY



REALFRYERERERER (1KRED A EHE)

(BfSE:mg/m)

A3 2019 & 20204 BE = B
%‘E 4 5 6 7 8 9 10 1 12 1 2 3 |1EsRE| B EE

XEAE | 0.011 0.012 | 0.013 | 0.014 0.022 0.012 0.009 | 0.009 | 0.008 | 0.007 | 0.009 | 0010 | 0.098 | 0.051

&Z)E | 0016 | 0020 | 0.023 | 0.022 0.031 0.019 0.015 0.012 | 0.009 | 0.009 | 0.010 | 0.011 0.121 0.062

B&MEB | 0013 | 0016 | 0019 | 0.019 0.027 0.017 0.013 | 0.011 0.008 | 0.007 | 0.010 [ 0.011 0.121 0.062

O | 0013 | 0015 | 0.022 | 0.021 0.028 0.016 0.012 0.010 | 0.008 | 0.007 | 0.009 | 0.011 0.139 | 0.072

152/ | 0015 | 0018 | 0022 | 0.022 0.029 0.017 0.015 | 0.012 | 0.009 | 0.008 | 0.010 | 0012 | 0.163 | 0.078

#MEB| 0014 | 0016 | 0020 | 0019 | 0027 | 0016 | 0012 | 0.010 | 0.007 | 0.008 | 0011 | 0.010 | 0.252 | 0.070
GE) XMFRFHEAERERT .

FERLFRWE (S PM : ££/HfE)
(R—BIRPUT )

B3l 5 | %= 1RSI {E HY0.20mg/m | B FEH{EO0.10mg/m BEHIED =] z|Z1’31I_§0.1\0mg/r’r'|s’é _ REREEDORIAM .

AlE El%ﬁ é;_i—r rs FEHYE(EBA-BREE |ZEA-B#E 2,,/@’9“[5 BA-HMN2BLU L STl k2 B FEH

~ ; ZDEE ZDEE R EHLIE-CEDEE 0.10mg/M%#BA-B %k
BIE B B | me/mi | PERE % B % mg/m H:x, &0 B
XEEB 358 8707 0.011 0 0.0 0 0.0 0.031 @) 0
A 366 8746 0.017 0 0.0 0 0.0 0.043 @) 0
AR 360 8632 0.014 0 0.0 0 0.0 0.040 @) 0
HOB 366 8744 0.015 0 0.0 0 0.0 0.045 @) 0
EER 361 8641 0.016 0 0.0 0 0.0 0.045 @) 0
Z2HB 366 8751 0.014 1 0.0 0 0.0 0.036 @) 0

GE) XHMXRFEAERETRY



